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PART - A
Fill in the blanks

Directions : Each of the following sentences in this section has ¢ blank space and four words or group of
words given after the sentence. Select the word or group of words you consider most appropriate for the
blank space and indicate your response on the Answer Sheet accordingly,

1. It's time you went out and your own living.
(a} afforded
(b}  earned
(e}  gained
id} won

2.  The elephant foll into a the hunters had set.
(2] track
(b} trap
te) trick
(di trank

8.  The dress isn't really tight. It'll _ when vou've worn it
(a)  bend
(b} expand

(e} squecze
id} stretch

4.  With his back to the old man, he stood at the window, fists clenched, and his shoulders
with his cheked sobbing.
ta)  shiverad
(b} shook
(e} wibrated
(d) moved

B. The bereaved mather proudly received the gallantry award her brave son who had laid
down hig life in the recent war.

ta) in the name of
(b} in liew af

fcd  an behalf of
(d} for the sake of
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Antonyms

Directions : Each item in thiz section consists of a sentence with an anderlined word followed by four
wordy, Select the option that (s opposite in meaning to the underlined word and mark your response
your Angwer Shee! accordingly.

6. She always organises lavigh parties on birthdays.

(al frugnal
(b)  decent
il cheap
(d) etrange

7.  The soldier was greatly praised for his valour.
(al clumsiness
(b}  cowardice
(vl solfishness
id) tactlessness

B. These regions are very fertile.

(o} sterile
ib} and
(e} barren
id} productive
8. Some sick immigrants were detained at the airport,
()} setthers
(b} natives
¢} wvagabonds
(d) forelgners

10, The questions were so elementary that anyone could pass the test,
(2] unusual

{h] primary
(e} naiwe
idl advanced
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Bynonyms

Directions : Each itemm in this section consists of a sentence with an underlined word followed by four
words, Select the option that is nearest in meaning to the underlined word and mark your response in
your Anstwer Sheet accordingly.

11.

13,

14.

15,

Today the newspaper is full of carnage and violence.
fm)  bloodshed

(b} Tast

(] concern

{d} satire

This religious gift, thaot makes men human, is still alive in Indian souls,
(a} mystical

(b}  spiritual

te}  metsphysical

id) philosophical

It is difficult for ue to imagine how much this safety means to everyone.
lal feal

(b} understand

{c} think

id) see

Public service is not merely something that secupies the hours you are deing it, but invades all your
life and experience and affects them in one way or the other.

la)  preserves
by demolishes
e}  covers

id} spaoils

He was, in the early part of the twentieth century, 8 staunch nationalist of the liberal fold.
ia) profuse

ib)  dogmatic
fe}  plentiful
(d) tolerant
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Spotting Errors

Directions : Each item in this section has a sentence with three underlined parts labelled fal, (b and (o),
Read each sentence to find aut whether there i2 any error in any underlined part and indicate your re sponse
in the Answer Sheet against the corresponding letter Le., (o) or (b) or (¢), If you find no ervor, your response
should be indicated ns (d).

16,

17.

18.

Neither the servants nor the clerk has done this. No error

(m) (hi el id)

The car which went past us  when we were driving on the highway

(m) )

must have been doing at least a bundred miles an hour. No error

(&) id)

Raju will be back home in an year after his stay abroad, No error
(&} (b} iel (d}

| have much work todo. Noerror

() £=1) {el (d)

Paychalogy did not develop into a science  based of careful obsarvation

N bl

and experimentation until the late 1800:. No error

e} {e}
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PART -B

21. How many times does the digit 3 appear

between 1 and 100 soch that the number
where 3 appears is nof divisible by 3 7

() 11
(b} 12
e} 13
id} 17

Which ene of the following is the remainder

when 74'"™ is divided by 8 7
(a) 2
(b} B
(e} 4
idy 7

Which one of the following is the arithmetic
mean of V3 — ¥2 and its reciprocal ?

a) 3
by 2
-
@ 1

Buppose x and ¥ are two positive numbers
such that when x is reduced by 2 and y is
incressed by 2, the ratio becomes 2 1; and
when x is increased by 2 and v is reduced by 2,
the rotio becomes 3 :1. Which one of the
following is equal fo x - v ?

(m} 20
by 24
(e} 1B
) 22

25.

(T=A)

Let ni>1) be a composite nataral nomber
whose square root is mof an integer,
Consider the following statements :

1. n has a factor which iz greater than 1
but less than the square root of n.

2.  n has a factor which is greater than the
sguare root of n but less than n.

Which of the statements given above isfare
carrect 7

in) 1only

(b} 2only

{c) Bothland2
{d} Neither 1 nor 2

What is the equivalent decimal value of binary
number 101110 7

46
66
ik ]
7]

{a)
(b}
(o)
(d)

Which one of the following basie operations
for converting raw input data  into
useful information is mot performed by all
computers T

{a)
(bl
(el
id)

Inputting
Storing
Switchi
Cutputting

Which one of the following memories is
extremely fast and acts as & high-speed buffer
between the CPU and the main memaory 7

{a} RAM
(b} ROM

le}  Flash Memory
idy Cache Memory
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Which one of the following is ned o web
browser 7

{a) Internet Explorer
(b)  Firefox

(e} Fedora

(dl Google Chrome

Which one of the following represents 1 GB of
information 7

(a) 1024 KB
(k) 1024 MB
tch 1024 'TB
(dl 1024 FB

Where did Gandhiji pot in  his first
major public appearance after returning from
South Africa in 1815 7

(@}
(b}
ich
(o}

Bombay University
Eheda
Champaran

Banaras Hindu University

Who among the following is the author of
‘CGandhi as Mahatma' 7

Mahadey Desai

Shahid Amin

Louie Fischer

David Arnold

(A
)
(el
(d}

Who among the fellowing was the Pregident of
the Indian National Congress at the time of
indopendence of India 7

in] Pattabhi Sitaramayya
b}  Jawaharlal Nehru

e} Abul Kalam Azad

idl J.B. Kripalani

(8-

4.

aT.

Al

During 1931, under whose leadership, did a
etrong Kizan Sabha Movement develop in the
Gaya District of Bihar ?

tal  Yadunandan Sharma

by Sahajanand

(e} Sheetla Sahai

(d) Tilka Manjhi

Who produced the Pirpur Report (1538] 7
(a)  Muslim League

{b}  Unionist Party

{e) Ahrar Party

{di Indian National Congress

Which ane of the following facts pertaining to
the National Green Tribunal (NGT) is not
correct ?

ia) The NGT was set up in the year 2010.
bt T8 purpose is to ensure cffective and
expeditious disposal of cases relating to
environmental protection aunid
congervation of forests and other natural
FEEHIFTES.

Tt is bound by the procedure laid down
under the Code of Civil Procedure,

It is guided by the principles of natural
Justice,

e

il

Which one of the following is the mandate of
the Committee on Estimates ¥

(a) It reportz on ECOnOmies,
improvements In organization, efficiency
or administrative reform consigtent with
the policy underlying the estimates, may
be effected.

It serutinizes appropriontion and finance
accounts of the Government,

It éxamines reporte of the Compiroller
and Auditor General and whether public
undertakings are run efficiently.

It exnmines bills on matters of general
public interest.

what

(b}

Lk

(dl
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38, According to the Economic Survey 2020 - 21, (41, Which one of the following is mot a female

which one of the following will be India's real reproductive organ in humans 7

GDP growth in the year 2021 — 22 7 (a)  Ovaries

(nl 9% by Owiduets
e} Cervix

thy 11%
(d] Stamen

(ef -13%

1 42. Which one of the following cannot be called
“Amphibian of the Plant Kingdom™ ?
(&) Spirogyra

29. Which one of the following is the aeronym for b Riscda

the word "NITT' in NITI Aayog ?
icl Funaria

in) National Integration and Transformation ()
of India

Marchontia

(b} National Institution for '['r.ﬂ.nmtﬁ:n-n:rlxg"'"5\r Which one of the following is nof &
India consequence of deforestation ?

ia) Increased groundwater table
(b  Decreased biodiversity

{e) Increased soil erosion

idl Decreased rainfall

(¢} MNotional Institution for Technologicnl
India

id] MNational Institution for Trust in India

44. Which one of the following chromosomes has o

40, Which one of the following is met & _
mismatched pair in a nermal human male 7

correct description of the Namami Gange
Programme ? {m)  Chromosome mambaer 21

(b Ohromosome number 18
(e} X-chromosome
(dl Chromosome number 13

fa) It ie an initiative of the Minigtry of Jal
Shakti.

ibi It primarily covers villages in the States
of Uttar Pradesh, Bihar and Odisha. 45, The word Voecine' has been derived from a

fe) It aims to make villages on the banks of Latin word having meaning
the river Ganga open defecation-free, im) Antibody
(b Immunity

{dl It aims to transform some villages on
the banks of the river Ganga as Ganga L
Grams. (d} Guinea pig
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Which one of the following statements is true
with regard to the image formation by two
eves of a person ?

{a) Both the eyes see exactly the same
' image.

{b} Ome eye sees half portion of the object.

(¢} Both the eves combine the twoe images
seen by them,

(d) Each eye sees a slightly difforent image.

Which one of the following statements is
correct 7

Wavelength of microwaves runges between
ia) infrored waves and rodio waves.

(b) visible waves and infrared light.

{c) vy-rays and X-rays.

id} X-rays and visible waves.

Which one of the following is the size of
hydrogen atom ?

(a) 10°%m

b} 10 um

) 10mm

(d) 1000 A

(a) A positive force implies attractive nature,
ib} A negative force implies repulsive nature.

{¢) A positive force ean be both attractive
and repulsive in nature.

id] A pegative force implies
nature.

attractive

When n dielectric material 15 kept in an
oxtarnal electrie field, which one of the
following phesomena may be realized 7

(a) Magnetization
(b} Polarization

{e)  Photoionization
(d} Cireularization

{13-A)

Which one of the following substances, when
added to water, will nof change the pH ?
ta}  NaHCOy

by NHCI
e  NayCly
id) NaCl

Which one of the following, on adding to
water, will no# scatter a beam of light 7

ia} Copper sulphate

b} Chalk powder

e} Milk

id) Ink

Which one of the following will not be reduced
by metallic zine ?

(a) Cu®

(b HY

(e} Ag'

d) A

Who among the following discovered Proton ?
fal J.J. Thomson

(b E. Goldstein
fel E. Butherford
idi J. Chadwick

Caonsider the following balanced equation :
CO{g) + 2H, (g} —— CH,OH ()

How many males of CHyOH() can be

obtained by reacting 20 mole of CO (g} with

20 mole of Hy (g) ?

() 1

(b} 2

ey 3

idy i
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Which one of the following pairs of Zonal
Railways and their Headquarters is not
correctly matched 7

(al
(b
Lok

()

Central — Nagpar
Eastern — Kolkata
Western — Mumbai
Northern — New Delhi

Tri-service contingent of which one of the
following countries participated in India’s
Republic Doy parade in 2021 7

(a) Mynnmar

(b) Napal

iel  Bhutan

{d} Bangladesh

Which one of the following does met figure in

the list of languages in the Eighth Schedule of
the Constitution of India 7

Daogri
Bhoti
Maithili
Santhali

(a)
(b
(el
(d)

As B routine exercise, Operations ‘Garam
Hawn' and ‘Sard Hawa® are conducied by

{a) BSF

(b} ITBP

icy CRFPF

idi CISF

Who among the following was the founder of
Swatantra Party 7

in)  C.Rajagopalachari

ib) Deen Dayal Upadhyaya
(el Shyama Prasad Mukherjee

id) Acharva Narendra Dev

61.

(15-A)

Mateh List 1 with List I1 and seleet the correct
answer using the code given below the lists :

List [ Lt 11
{Term) { Explanation)
A. Closure 1. Permanent closing
down of o place
of employment
B, Workmen 2, Any person employed

in any industry to do
gkilled, unskilled or

maninl work

C. Strike 3. Temporary closing
down of workplace by
the management

D. Lockout 4. Cessation of work
by employees

Code

A B C D

a) 1 2 4 3

My 3 4 £ 1

€] 1 4 2 3

(dy 3 2 i 1

Whe is an ‘Adolescent’
Act, 1948 7

a8 per the Factories

{a) Who has completed 15 vears of age but

i5 less than 18 vears

{(b)  Who iz less than 18 years

te)  Who hag completed 14 years of age but
{# less than 18 years

id) Who has completed 16 years of age but

is less than 15 years
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63, Tl Frfam 3w = s 4 0

{a) I v oTom few w9 gm faw A
fern @ fRdl Wm sfuRm @
wrwten § i it 5 fm o g

(b} w T W Gew ow oo Raaw 8
fora = it T wififaam g St
# witedia difim &0 fen mn 2

w ®E T oIEm femwm swoREm oz
P o fom = Pt smoafeen fram
Tm wrwEn o ofie ofm = B oo
2

) wE tm s e e oz fraaw g
fn @ feh & wfifm gm
wrfEa 1 wEE e e B o g

. Teft afim ww (3% f) & oo & fom
st ween Wt =gean g wm # e

(a) 2HH

(b) 3HTH

led THEH

idy 108

. 3 ofEm wfufem, 1926 % Twn &
sita Frfefen @ @ fon e feare e
= sEgEm. e e e B oy

e = w1t faam W@ Feafefen @
Hafym 7 .

1. farm

3w

3. = vfifesfat

d fom g2 = W@ = g5d e g
a) wEA 1

(by “Ee 23 3

€} 1,233

id) e 1 3 a

(16=a)

6. Freaforfian § 4 w9 ww sqaEs 7 & 0

(a) HEEH
by fomm
(e} FEIUHA
(d) TR

. Freafefes el # @ S 2 2

sraeyge et w0 fdlt fanen ofames

(a) WIS 0 IeRy U o TR @
FaET I w9 0 s = 8

(h) FE wdeye i we & fow dung
¥ U SE A

(c) WA & g W ey feanw d
afafia (gieee) wm # |

dl  sTaEgE fEamE & A v % s W
T =R

Freyrea feu s o Wl S W o
& fo Fesferfan o @ 9.8 fasm = 79gm
Farn wrm & 2

(m)  OuH wEm e

() weTt wE e

Lep ﬁnmm

(dy  HEHT B2y T

. Tl & @S9 afe wee iz af

B

(a) ', 5rE o =
(h) EERLE AL

() TH.ESLOF.
) um.dE R,
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83. What is & controfled industry ?

(a)  Any industry the control of which by the
Union has been declared by any Central

Act to be expedient in the public interest
Any industry the control of which by the
State has been declared by any State Act
to be expedient in the public interest
Any industry the control of which by the
Municipal bodies has been declared by
any Municipal Rules to be expedient in
the public interest

Any industry the contral of which by the
Btate haa been declared by any Central
Act to be expedient in the public intereat

()

(e

(dd

What iz the minimom oumber of members
required for registration of a Trade Union 7

(a) 2 members
(k) 3 membera
ic
id)

T members
10 members

Which of the following disputes is'are
congidered a8 trade disputels) under the
provision of the Trade Union Act, 1926 7

Any dispute of any person connected with
1. Employment

2, Non-Employment

L Conditiona of Labour

Select the correct answer using the code given
balow :

(al 1only

(b} 2and3 only
) L 2and3
{dl 1and3only

67.

(17 -A)

Which ane of the following is mef a language
translator 7

ial Assembler
ib) Linker

(¢d  Interpreter
(d] Compiler

Which one of the following statements is
correet 7

A deviee driver of output devices

ia) interprets input provided by users into

computer usahle form.

{b) interprets computer cutput inte user
understandable form.

{gl ironslaies user inputs into outpul
dlervic.

(d) facilitates uvser to communicate with

output device,

Which one of the following registers is used to
keep trock of the next instruction o be
egpenbed 7

ia) Memory address register
(bl Memory buffer register
(el Program counter

id) Memory data register

Which one of the following is nof an audio file

format 7

{a) MIDI
fthl WAV
{c) BWF
dy MPEG



0. 1-bit 50 % F9H % foe v e

Tl

7.

74,
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soiwgi gigw w1 Feafafes o @ fem sy 8
ffée Femamn 2 2

fa) TFEER

k)  gifwe

) T

id) e

“Frfor wfer” o1 o Fefefan d & femm 2 0
a) 9 =y o Iy

ib)  Hmg w=wy £ 3aE

ey HIAW shi TIEE

(d) $vr & Fen mrew o ToE

TEF AW W g TS F wgn) w e
TR wgran 3% = yaw e o w o

(a) Wefmm B w2 owafan wfes

HHHETHOT
(b WA vt 1 2 wmea @ ot

i) TR WREE W ¥ Tods § ot
AT

(d) e i # AarE w0 o s
% wmr 1 T

nieftsft 3 2t T = wEy Gefefgm g A
n e @ R g

(a) RIWTH 3THY

(b) Tt

(c) WARWETETE 2eeTee e

(d) HEHEIETS SHETH

Frferfam 4 2 o8 5w v 4 s R
* W TRt 4 2

(a) TTRTI T

(b) TP wETE

{e) W, W

(d) ity *a

7.

T8,

(18-A)

MR F A 1885 F Fmaed s 6,
Frififian & & fomd) srqerm 7F o ot 0

ST Trem §
b “FER wfeEE afhew

fe % = @i W e urarn B
CaRE

{a)

fe)

(d)  Timsm % = = o i wrsn S
famrt w1 feremm

T % I ogEh o pemnft & o
v 1o 8 Fefefan § 8 S mew s
& HrY HY T S

AN WEW
BT
afyam =
forArm

L
(bl
(3]

(d3

Freferfin w4 3 Saysng v o o
1. TR T S el B
2. TIHE HEIE -0 wee W owelea &
8. §8 Hug uWE § 76 TE w9E §

& fan m 2 W = W= wd I g
(n) WEE 2N g

1,253

LB

e 1 5 g

b}

e

G
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Which one of the following denotes a
sequential electronic circuit that is used to
store 1-bit of information 7

(s} Register

(b} Transistor

¢} Flip-flop

id) Capacitor

Which one of the following does ‘Wirguna
Bhakti’ refer 1o ?

i{a)  Bhaivite form of worship

(b) Vaishnavite form of worship
{e) Inearnation worship

(d}  Abstract form of God worship

What did Afn-i-Akbari eeek to promote within
the frontiers of the Mughal State 7

(a) Social disharmony influenced by the
whims of the nobility

(b} Cessation of the provincial units from
central rule

(e} Social harmony with the support of a
strong ruling class

(d) Establishment of a rule of rural
republics by overthrowing the Mughal

suzerainty

Gandhiji's Salt March to Dandi was started
from which one of the following places ¥

ia) Kochrab Ashram

{h) Sabarmati Ashram

(e}  Ahmedabad Textile Mill

(d} Ahmedabad Jail

Who among the following was mof a member
of the Socialist group in the Congress Party ?

(al - Jayaprakash Narayan
(b} Rajendra Prasad

{el N.G. Ranga

{d} Narendra Dev

{18-A)

75. Which one of the following was notl

recommended in Macaulay's 18356 Minute on
Edueation 7

in) Tenching in English medium
by “Liberal’ literary training

i) Teaching of Western texts alone at
higher levels of education

(d} Teaching of both Western and Oriental
texts at higher levels of education

Which one of the following States will be
directly connected with Azsam by the proposed
bridge between Dhubri and Phulbari over
river Brahmaputra 7

{al  Arunachal Pradesh

(bl Meghalaya
lel  West Bengal
{di Mizoram

Which of the following statements isfare

correct 7

1. Indim i8 a signatory to the Hamsar
Convention.

2. The Ramsar Convention is
wotlnnd conservation.

3. Al present there are 76 Ramsar Sites in
Indis.

Select the correct answer using the code given
balow :

about

ia} 2 and 3 only
by 1, 2and3
¢} 1only

id) 1and2only
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At (4w wm e, ) o Tee Tt 2 o

ja) ITwH, HUF IgF B awh  Fee
(raam ) o feenfm 5 3989m &
for el (wfdndt) wem &

i =W fae d few w0 wuiae
A

iha
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(d) WA, T I EEE § qun S

frafirfiee o 2 B wm o 2 1065 4, vfien
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(b) THIEEN
LEE
(d)y A

Lok

v LA TR WA R R gefEm
wEl % ¥y 4 yiw f1 W O % 9w
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(n} WII

« thy YEH

el ITW
id} IZH

HI1.

BZ,

(20-A)

Fraffam @ @ 9w 21 3 55 & 49 A

Al e wema W atea R 2
{a) 3585
(b} 3671
(¢) 3800

di 3800

afg ‘A’ siv ‘B Wt A 66w waTE # ol
12 km &1 % g2 d ‘B, ‘A" =1 70 e i &

A w4 el g R, W A 8§ $.
e s et 78 @ 2

‘A’, 30 m B FrEm |
by ‘B, 200 m & FAm o
e} ‘B’ 130 m® Fiwm |

i)

idy #v% s 91 Tre w1 o

‘MEIgeoTR| R, Masaiami
iV gasiwm 2 |V o oam om ad
‘BRsihmV dewigiad ) ‘v sinp
whi g # fem = = wwm B o

18 &

L)

(b 159

1394

el

(dy 1199



TR, Which one of the following is mot an objective |81,  Which one of the following is the average of all
ander Pradhan Mantri Krighi Sinchayee prime numbers between 21 and 55 7
Yojana (PMESY) ?

{a) Providing subsidies to use fertilizer, () ey
high vielding varieties (HYV) and b 86T
pesticides

(b} To achieve convergence of investments c2, SEN
in irrigation at the field level idi 3900

(¢} Toexpand cultivable ares under assured
irrgation

B2, If the ratio of speeds of ‘A’ and B is 5 : 6 and
‘B’ allowe ‘A’ a start of 70 metres in & 1-2 km
race, who will win the race and by what

distance 7

(d}  Improving on-farm water use efliciency

78. In which cne of the following places, was
Asia’s first Export Processing Zone (EFZ) set
up in 1965 7 b "B wins by 200 m.

{a) ‘A’ wins by 30 m.

ia)  Ahmedabad

teh ‘B wins by 130 m.
(h) Kandla

{cy Mumbai id}  The race finishes in a dead heat.

id) Jaipur

83, M is 80 years old, 'R’ is B years junior to "M’
and 4 vears senior to 'V, The youngest brother
of 'V is ‘B and he is 6 years junior to V. What
is the age difference between "M’ and B 7

#0. Which one of the following is the name of the
scheme introduced as a well-targeted system

of service delivery to LPG customers 7 fa} 1B vears
fal SAHAM

ihi 15 years
by PAHAL

i¢) 13 years
) UDAY
() UDAN (d) 11 years

MNMJX-U-GTA (21=A)
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(22-A)

87. WHiH F wee % fom wew wwgh Rt

% 8 fm ad (Fman) § e o #
(a) Wagl o

(b) wEf S

(c) EEETA

(dy FT-EI S
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(a) TH a9 &
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84. The English alphabet ie reocrdered in the

following manner ;

The first 6 letters are written in opposite
order, the next 6 letters ore written in
opposite order and so on. AL the end, Y is
interchanged with ‘2. Which one of the
Fellowing is the fourth letter to the right of the

13 Jetter ?
a) N

b} O

el M

id) 1

If ‘a’ varies as ‘b, then which of the following
statements isfare correct 7

1. o™ root of a%b varies as (2ni™ root of a%h®.

9 % varies inversely as b.

Select the correct answer using the code given
below :

ml laonly

(b) 2 only

¢ Baoth 1and2
(dy Neither 1 nor 2

Which one of the following statements about

Trial Balance is correct 7

{a) It is & book containing different accounts
of nn entity.

(b It is n statement containing balances of
debtors of an entity.

{¢) Tt is a statement containing balances of
debtors and creditors of an entity.

(dy It is & statement containing the various

ledger balances of an entity on &
particular date,

(23-A)

Wages paid for installation of machinery is
debited to which one of the following

acoounts 7

(a) Wages Account

(b Machinery Account

ie)  Installation Account

id} Profit and Loss Account

When are current labilities payable ¥

ta) Within s year

b} After one year but within five years
(e} Within five years

id) Subject to a contingency

1z the total of Debit and Credit gide of Trial
Balancs the same 7

ia} No, there are some times good reason
why they differ.

ib)  Yes, always.

{el  Yes, except where the Trial Balance is
extracted at the year end.

(d] Na, because it is not a Balance Sheet,

Which one of the following is the first book in
which the transactions of a business unii are
recorded 7

in} Balamee Shest

(b Cash Book
{c} Ledger
id) Journnl
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91. Who among the following did mot# represant
the militant nationalist school of thought in
India ?
(a)  Ashwini Kumar Datt
bl Vishoushastri Chiplunkar
ie)  HErishna BEumar Mitra
id] Lala Lajpat Rai
#2. Which one of the following statements about
the situation in the Eyotwari areas is correct 7
ia} A large amount of land passed into the
hands of the monev lenders, merchants
and rich peasants, who usually utilised
the services of the tenants.

ib) Landless Iabourers became the land
OWNETE,

el It stopped the practice of leasing out
land to tenants at high prices,

id) Landlordism was totally destroyed.

83. In the year 18911, who among the following
formed the Social Service League in Bombay 7
in} K. Gokhale
ih)  8B.A Dange
e} N.M. Joshi
d) MK Jayakar

NMJIX-U-GTA

(25-A)

Who among the following was mof part of the
group of ‘no-changers’ in the Congress Party ?
ia) Sardar Vallabhbhai Patel
(b} Dr. Ansari

Babu Rajendra Prasad

Motilal Nehru

(el
ids

Who among the following was nof a member
of the Cabinet Mission ?

ind  Pethick-Lawrenoe

bt  Stafford Cripps
(el AV, Alexander
{dl Lord Wawell

Who among the following 15 the firet player in
the history of Test Cricket to take 200 wickets
against lefi-handed batsmen 7

Muttiah Muralitharan
James Michael Anderson
Stuart Broad
Ravichandran Ashwin

{a)
(b
(el
d

Whoe among the following Speakers of Lok
Sabha formally disassociated from the
political party after his election as the
Spenker ?

fal G.V.Mavalankar

(bl Sardar Hokam Singh
(g Neelam Sanjiva Reddy
(d) P.A Sangma



a8,

1040,

MKLE-U-GTA

e o 2000 B 21 WE0 W oSmwieR
e fmm % w9 § wow R seew
argwr feam wR @aft fam ® R
freafafan & & fem g 3 F1 ot ¢

in) S

(b} Wi=En

{e] WHA

(d)  JurE

e # 4, w1 S sieEeaaEen fave son
wiaA (T L) # wun ofgen gerfi
ghim | afefefmiafmmamf i

(@) =H
(b) g
gt
d) Fm

el

FogE  OedldlEer ynme wfeEee ofae
Fafefgs 0 8 fem T w W &% ="

Aradt 2
(a) =TS
(b} ETET

(©) WEH

(dr  STETHEE

101.

102,

103.

104,

(26-A)
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UNESCO has been observing February 21 as
the International Mother Language Day since
2000, The idea 1o celebrate the International
Mother Language Day was the initiative of
which of the following nations ?

ia} S Lanka
(b}  Bangladesh
e} India

id) Nepal

Dr. Ngozi Okonjo-Tweala was recently selected
ae the first woman Director-General of WTO,
She haile from which one of the following
coumntries T

(g} Japan
ik} Ethiopia
(¢} Nigeria
id) Egypt

The Kaladan Multi-Modal Transit Transport
Project will connect India with which one of
the following countries ?

ta) MNepal

(b Myanmar
ie}  Bhutan

(d) Afghanistan

(27 -

101.

1o,

103.

104

Al

What is the maximum amount of grotuity
payable to the employees under the Payment
of Gratuity Act, 1872 7

ta}) ¥ 5,00,000

th) ¥ 10,00,000

fcy ¥ 15,00,000

idi T 20,00,000

What is the maximum number of hours in a
week that an adult worker 15 allowed to work
for ?

ia) 35 hours

{b) 40 hours

{c) 45 hours

id) 48 hours

What is the maximum period in which the
appropriste  government shall review and
revise the minimum rates of wages under the
Minimum Wages Act, 19458 7

(al 2 voars
(b) 3 years
icl 4 years
id} 5 years

Under Sukanya Samriddhi Yojana, what is
the maximum amount that can be deposited

during o financial year 7
(a) ¥ 15 lakh

(bl ¥ 1lakh

(e} ¥ 2lakh

(d} ¥ 2-5lakh
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What is the minimum and maximum age nt
which a subscriber can join the Atal Pension
Yojann 7

21 years nnd 568 years respectively

18 years and 40 yoars respectively

Lal
(b}
ie)
id)

18 years and 50 years respectively
21 vears and 60 vears respectively

Which one of the following denotes Gross
Profit 7

Cost of goode sold 4+ Opening stock
Sales less Cost of goods sold
Bales less Purchases

Mot profit less Exponses of the poriod

tal
LT
{e)
(d)

What is the underlying accounting concept
that supports ne anticipation of profits but
provision for all poasible loases 7

Mutching
Materiality

{a)
i)
(e
)

Consistency
Conaervatism

Which one of the following sccounting
concepts 15 applied by an entity, when events
such ag new competitor entering in the market
and rift between production and marketing
departments are not dizclosed in the books of
peeownts T

(s} Matching
(b}
(e}
(d)

Money Measurement
Revenue Recognition
Cost

109,

110,

111

113.

(20-A)

Which one of the following concerns prepares
Receipts and Payments Account ?

ia) Trading concerns

(b} MNon-trading concerns

{e}  Manufacturing concerns

{dt Companies registered under Companies
At

Which one of the following statements is
correct  about  Ipcome and Expenditure

Account 7
i) Itis a Real Account.
(bl Itis a Personal Account.
e} Itis a Nominal Account.
id} Itis o Representative Personal Account.

Who among the following is the author of the
book “The Little Book of Encouragement’ 7

ia) Dalai Lama

ib) AP Abdul Kalam
e}  HaviShanlkar
id)  Jagadish Vasudev

Which day has been declared by the
Government of India to be celebrated every

vear as "Parakram Diwas”™ 7
ia} 23 January

by 14 April

(e} 28 May

(d) 25 December



113. 163 sl 1 WEg werE wreE of f

114,

115,

118,

NMIX-U-GTA

U Wiagld, = wiEm @ o 5if @ w6, =
A eRafmegmamm it =
ferrwen = wam w1 S Frafefam 8 & fea
L B

(m) TaEez 39 win

(hy wreet foeTa

() TTEEEEE

(dy et =1 fsh

d= wiws Han, wtee s fE-c02 1,
WE W W s e

m) fidta

by g
(e) e

id) W=EH

M M 3 Wieftwn A 2R
Az, 2021 F wigen vem famm ofm | 3R
frefifias 4 & fed w8 wom @ o

(a) ﬂ?ﬂﬁﬁm

(b} AT e

(e)  w fafermn
(dy TEwT Bl

5 @ wgdl, s it 3 Iud o i
=g 23 W o, 39 3w faam gam @ g ofa,
aeit 3 9w o sftem g s g0 A R
=i 1 g o fardt o

8 HEH

1N

3 94

4 9%

F)
ihi
el
id)

117,

118,

118.

(30-A)

ﬁ%#ﬁt#ﬁ%ﬂrﬂﬂﬁwﬁaﬁﬁt

7 2w e % e we W, o ow, E, &
W, W, Frefefan 4 & fes e B o

(a) B:27
By 2718
ey 4:16
idi 18:4

T w0 4% i wedm # an
fo% wefwal § | of i R = 25
wzfral E, @1 Mo Rl = e
yiawa #E® 8 7

33- 350

407

25%

20%

il
(b
]
id)

T FHET B 100 B W SAET THT 46 kg B
T A FEfE & o T weE 50 ke
#T 40 kg | wEE i ergfegi # Teen &
LRl o R

30

25

20

10

F
{b)
ie)
{d}

U% Eigen, 52 99 w4 3 &, Fand wes
YA 10 em 37 T4 200 gm B | 70w F &=
e aTel W9 & gEl T e & af2 o
1 TG 1 gm T em® B, 9w duE W\
Mmmﬂigm?

(a] Tem
(b
(e

id)

15 em
2em
2:5em



113.

114,

115,

118,

MALIX-L-GTA

A copy of the famous 16'" contury art work
Falvator Mundi', which was reportedly stolen,
hag recontly been recovered by the Police in
Italv. The painting is attributed to whom
amang the following 7

{a) Vincent van Gogh

thi  Pablo Picasso

()  Michelungelo

(d} Loeenardoda Vinci

The Global Firepower Index-2021, a military
strength ranking, placed India at which rank ?
)
1:1]
(e}
(d)

Naomi Osaka won the women's singles title of
the Aostralian Open Tenniz Tournament,
2021. Who among the following was defeated
by her in the finals 7

{a) Venus Willinms
(b} dJennifer Brady
e} Serena Willinms
(d) Simona Halep

The average age of a hushand and his wife
was 23 years when they were married § years
ago. The average age of the husband, the wife
and their child is 20 years now. How ald iz the
child now 7

{a} 9 months

(b} 1year

ek 3 years

{d) 4 years

[ 3
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balle of radii %
respectively, then which one of the following is
equal to W, : W, 7

(m} &:27

by 27:8

(e} &:18
(dy 16:4

metre and miefre

4% of the students in a class are from India
and 50% are girls. If 26% of the Indian
students are girls, what percentage of
non-Indian students are boys 7

(n) 33-33%

B 40%

e} 25%

dy 205

The average weight of 100 students in a class
is 46 kg. The average weighta of boys and girls
are 50 kg and 40 kg respectively. What is the
difference between the number of boys and
girls 7

(n) 30
bl 25
e} 20
(d} 1D

A hollow closed cube of side 10 cm, each
weighing 200 gm, i# made. This cube is placed
in water with a horizontal face. How many cm
of its height sinks in water if the density of
water is 1 gm per em® 7

(e lem
() THem
e 2em
(d) 2Hem



wed W & e g
SPACE FOR ROUGH WORK

MMJX-L-GETA [32-A)



&=l &1 & foro g
SPACE FOR ROUGH WORK

NMJX-L-GTA (33-A)



& W & foe g
SPACE FOR ROUGH WORK

NMJX-U-GTA (34-A)



&l ®TH & foru T
SPACE FOR ROUGH WORK

MMIX-L-GTA {35 -A)



DO NOT OPEN THIS TEST BOOKELET UNTIL YOUT ARE TOLD TO DO 50

T.B.C. : NMJX-U-GTA Test Booklet Series

TEST BOOKLET
GENERAL ABILITY TEST

Time Alloweed : Two Howrs Maximum Marks : 300

10

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET INMES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the RHoll Number and Test
Booklet Seres A, B, € or D) carefully and without any omission or discrepaney at the appropriate
places in the OMRE Answer Sheet. Any omissionfdiscrepancy will render the Answer Sheet liahle for
rejectinn,

You have to enter your Roll Number on the

Test Booklet in the Box provided alongzide.

DO NOT write anything else on the Test Booklet.

Thiz Test Booklet containg 120 iteme {guesiions) in two paris : PART - A and PART - B, Each
item in PART = B is printed both in Hindi and English. Each item comprizes four responses
ianswers), You will select the response which you want to mark on the Answer Sheet. In case you
feel that there is more than one correct response, mark the response which you congider the best. In
any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet ided. See directions

in the Answer Sheet, © il g

All tems carry equal marke,

Before you proceed to mark in the Answer Sheet the respoanss to various items in the Test Booklel,

vou hawve to fill in some particulars in the Answer Sheet as per instructions sent to you with vour

Admission Certificate.

After vou have completed filling in all your respon=es on the Answer Sheet and the examination has

eoncluded, you should hand ever to the [nvigilator endy the Answer Sheet. You are permitted to

take away with you the Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE

ORJECTIVE TYPE QUESTION PAPERS,

(i} There are four alternatives for the answer to every question. For each gquestion for which a
wrong answer has been given by the candidate, one=third of the ma ne=igmed to that
question will be deducted as penalty.

(i) If acandidate gives more than one answer, it will be treated as o wrong answer ¢ven if one of
the given anawers happens to be correct and there will be same penalty as above to that
question.

iiii} If & guestion ie left biank, i.e., no answer is given by the eandidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOORKLET UNTIL YOU ARE TOLD TO DO 50

s ¢ R R we i g oy e R

MNMIX-U-GTA {36-A)



